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A4 E8 AF 81 c104 144832.htm 11. Which statements about
Inheritance are true? A. In Java programming language only allows
single inheritance. B. In Java programming language allows a class to
implement only one interface. C. In Java programming language a
class cannot extend a class and implement a interface together. D. In
Java programming language single inheritance makes code more
reliable. 00 DOOD0OOD0OO0OODO0OO0OOO0OOO AOO java
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1) class Person { 2) public void printValue(int i, int ) {/*U */ } 3)
public void printValue(int 1){/*...*/ } 4) } 5) public class Teacher
extends Person { 6) public void printValue() {/*...*/ } 7) public void
printValue(int 1) {/*...*/} 8) public static void main(String args[]){ 9)
Person t = new Teacher(). 10) t.printValue(10). 11) } 12) } Which
method will the statement on line 10 call? A. on line 2 B. on line 3 C.
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0000000 13. Which are not Java primitive types? A. short B.
Boolean C.unitD.float 0 O DO O OO Ojavald OO OO O O
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14. Use the operators ">", which statements are true? A. 0000 0100
0000 0000 0000 0000 0000 0000 1000 0000 0000 0000 0000 0000 0000
0000 B. 0000 0100 0000 0000 0000 0000 0000 0000 1111 1100 0000
0000 0000 0000 0000 0000 C. 1100 0000 0000 0000 0000 0000 0000
0000>>5 gives 1111 1110 0000 0000 0000 0000 0000 0000 D. 1100
0000 0000 0000 0000 0000 0000 0000>>5 gives 0000 0110 0000 0000
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following range of int is correct? A. -27 -- 27-1 B. 0 -- 232-1 6.



Which layout manager is used when the frame Is resized the buttonss
position in the Frame might be changed? A. BorderLayout B.
FlowLayout C. CardLayout D. GridLayout [J [0 OJ Frameld O O [J
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